)dtﬂ

THITE

= RiBrF

~ i — B 73 B~

El-)zl'
Il
ok

FM3IFE10A
= R e F AR B EGER



—_—

(L[S =« » v = & v v m nw e e e e e e e e e
T P - 7)Y =
HRETHER (FET) DR = = = = vmw e
3~ = -
BAFEESADMEE - =+ + + v v o na e e e e e e e e e
BEMEBIE - - - - s s s e e e s s s s s e e aaae e
I 5 -3
MIBELTEEEE + + v v v v v na e e e e e e e e
BERUNHHEE  + + v v v v v v v nnamm e e
BIEEREELE DB = = =+ + + + + =+ = s 2 2 a a a aa e e
O =7) 11 =AY ;S

© 00 N O O o O DN

RO —y
—_ O

(& # &)
I —REHEFEUNHEE

1 BMBEHAR (—RIFF) -

D - G - == F

3 MIEBAME (—MRIEF) =« vor v
I ShMEEHE

1 BIEESEAE (£K) v v s v e e

2 ¥EC (éﬁg) .....................

3 MHEBRHE (1K)  » v s v e e n e e e e e
I EHSMBESE

1 BATEEEEAR GEEE) v s v oe e e e e

2 GESD GEEE) v e e e e e e e e e e e e

3 MHEBRMEE GEHE) -+ v s v oe e e m e e e e

\Y Fﬁgggﬁﬂﬂ ........................



